Division par 10* (B)

16 +~ 10t =

42 - 10 =

13 =101

61+ 10"

610 =

67 +~10"' =

34 + 10 =

69 = 10 =

60 =+ 10*

4 +10 =

Trouvez chaque quotient.

42 +10' =

67 - 10 =

82+ 10'=

100 + 10 =

86 + 10 =

33 +10'=

72 +10' =

2+10'=

64 + 10' =

28 +~ 10 =
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Division par 10* (B) Solutions

Trouvez chaque quotient.

16 +10'=1,6 42 +10'=4,2
42 +10'=4,2 67 ~10'=6,7
13+10'=1,3 82 +10'=8,2
61 +10'=6,1 100 = 10* =10
6+10'=0,6 86 ~10'=8,6
67 ~10'=6,7 33+10'=3,3
34 +10'=3,4 72 +10'=7,2
69 +~ 101 =6,9 2+10'=0,2

60 +~10'=6 64 +10'=6,4
4+10'=0,4 28+10'=28
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